Group Exercise
1. Connect your PC to the switch

2. Disable LAC#3 and enable LAC#5

3. Configure TCP/IP property 

a. IP address: 223.10.5.PC#

b. Subnet Mask: 255.255.255.0

c. Default Gateway: N/A

4. Use the ipconfig /all utility from DOS to confirm the configuration

5. Test connectivity using PING.  Was the test successful __________?  How do you know_____________?

6. From your ARP table, record the MAC address of your lab partner.  Remember, to the command arp –a will display your arp table. _______________________

7. Open packet tracer and connect 4 workstations to a hub.  Assign IP address to workstations (192.5.5.1-192.5.5.4).  

8. Go to simulation mode and send a packet from PC0 to PC1.  Was the packet received by all nodes? _____________ Why________________________

9. From simulation mode create another packet from PC2 to PC3.  Send the two packets at the same time (from PC0, and from PC2).  Did collusion occur?_______________  Why ______________________

10. Delete the hub from the topology and replace it with a switch.

11. Congratulations!  You are ready for today’s Listen(
